Operations with Hexadecimal Numbers (J)

F4,4)DD7C741

2F 314

+ 96DAy4

B86B

X 2Byg

2DDO01g

+ 2BDF4

3516)800291¢

Calculate each answer.

8A15)775BAE 4

154C914
— DF41y4

8F16)3202F84

C58314
+ TEDDy4

C1BDyg
+ ABFy4

ABE5 4

X 6916

795914

— 25BByg

CE16)2F0BC26

CCi6)C420B4 4

3616)2823D24

AA16)71B88 g

73E616
X B3ig

E91E4
+ 42BDqg

37FEq¢
+ AFBFg4

B316)31E33Bg
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Operations with Hexadecimal Numbers (J) Answers

ES6116

F4,4)DD7C741

2F 314

+ 96DAy4

99CD;6

BS6Bg
X 2Byg

1EF9F9

2DD0qg

+ 2BDF4

59AF

26A56

3516)800291¢

Calculate each answer.

DD6B
8A16)7T5BAE ¢

154C914
— DF41y4

758815

598814
8F16)3202F84

C58314
+ TEDDy4

1446014

C1BDyg
+ ABFy4
CC7Cyg

ABE5 4

X 6916

4680ED; ¢

795914

— 25BByg

539E;6

3A7T716

CE16)2F0BC26

F61F g

CCi6)C420B4 4

BE4B4

3616)2823D24

AB4q
AA16)71B88 g

73E616
X B3ig

5109D2;4

E91E4
+ 42BDqg

12BDB;

37FEq¢
+ AFBFg4

E7BDyg

47596
B316)31E33Bg
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